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QUESTION 1

Cold air is than warm air.
A. less dense

B. generally faster

C. more dense

D. lower-pressured

Correct Answer: C

QUESTION 2

The surface of the earth is called the
A. mantle

B. core

C. shawl

D. crust

Correct Answer: D

QUESTION 3

The study of the environment and organisms’ interaction within it is called ?
A. botany

B. entomology

C. ecology

D. geology

Correct Answer: C

QUESTION 4
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The of an isotope is the time in which it takes half of an initial amount of an isotope to decay into
something else.

A. decay period

B. half-life

C. covalence coefficient

D. midlife decay point

Correct Answer: B

Explanation:

The half-life of an isotope is the time in which it takes half of an initial amount of an isotope to decay into

something else.

QUESTION 5
is the reason it is harder to stop a baseball flying at 100 MPH than it is to stop a baseball flying at 50 MPH.
A. Velocity
B. Momentum
C. Mass
D. Volume
Correct Answer: B
Explanation:

Momentum equals mass (amount of matter in an object) times velocity (speed in a given direction).
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